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BR3—2 BEWICERTHLBESNAHRICET SFE1/1) _ _ T
SERtOME | EmES 203AN5172-1 BT \ il =C | PnTEMh KA = R B T Pl
. SEMMOTIHICHEET S EERHA
ﬁf&g TREOBBOEILADKRES TREDOHBEBSSLADKRES TREOBBOEILADKRES TREDHEBSSLHDKRES
; 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEZ 5 -~ — — —
ZznLst 1.00 | 0.00 ~ 390 48.93 | =hS | 000 ~ 390|210 11.25 znLs 1.00 | 5.00 ~ 56.00 4893 | #nLS | 5,00 ~ 56.00|2.10 11.256
2 100kN/mMZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 0.00 ~ b6.44 67.89 | =St | 000 ~ 0.00)| 1.67 8.95 znLs 1.00 | 5.00 ~ 6.00 67.89 | =hSt | 6,00 ~ 6.00 | 1.67 8.95
3 100kN/m%Z#BZ5| 1.00 | 000 ~ 073 110.84 |3mEBZB| — ~ — — — | 100kN/mi%#Z25 | 1.00 | 1053 ~ 1265| 110.84 |3mE#BZ3 -~ — — —
ZznLst 1.00 | 0.73 ~ 851 100.00 | =nllsy | 000 ~ 861217 11.63 znLs 1.00 | 5.00 ~ 1053 100.00 | =nRS | 6,00 ~ 1265|217 11.63
4 100kN/m%Z#BZ5| 1.00 | 000 ~ 117| 117.73 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1063 ~ 1453 11773 |3m&E#Bz3 - =~ — — —
ZznLst 1.00 | 1.17 ~ 896 100.00 | =nllst | 000 ~ 896 2.12 11.35 znLs 1.00 | 5.00 ~ 1063 100.00 | =hLSY | 5,00 ~ 1453|212 11.35
5 100kN/m%#B25| 1.00| 000 ~ 1.48| 12253 |3m&EBZZ| — ~ — — — | 100kN/mM%#B25 | 1.00 | 1064 ~ 1595 12253 |3m%EREZD -~ — — —
ZznLst 1.00 | 1.48 ~ 9.26 100.00 | =St | 000 ~ 9.26| 2.30 12.29 znLs 1.00 | 5.00 ~ 10.64 100.00 | FhLS | 5,00 ~ 1595 2.30 12.29
¢ 100kN/m%Z#BZ5| 1.00 | 000 ~ 099| 11486 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 10.70 ~ 13.95| 114.86 |3m%E#BZ3 - =~ — — —
ZznLst 1.00 | 099 ~ 877 100.00 | =nllst | 000 ~ 877210 11.24 znLs 1.00 | 5.00 ~ 10.70 100.00 | FhS | 5,00 ~ 1395|210 11.24
7 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 000 ~ 7.34 93.55 | =hS | 000 ~ 734|262 14.03 znLs 1.00 | 5.00 ~ 1241 93.65 | =N | 5,00 ~ 1241) 262 14.03
3 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.29| 119.52 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1054 ~ 14.62| 119.52 |3mE#BZS -~ — — —
ZznLst 1.00 | 1.29 ~ 9.07 100.00 | =nllsy | 000 ~ 9.07|221 11.83 znLs 1.00 | 65.00 ~ 1054 100.00 | =nRS | 6,00 ~ 1462|221 11.83
9 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.78| 127.33 |3mEBZB| — ~ — — — | 100kN/mi%#Z25 | 1.00 | 1067 ~ 1682| 12733 |3m&E#BZ3 - =~ — — —
ZznLst 1.00 | 1.78 ~ 9.56 100.00 | =04y | 000 ~ 966|247 13.22 znLs 1.00 | 5.00 ~ 10.67 100.00 | =nRS | 6,00 ~ 1682|247 13.22
70 100kN/m#%#BZ5| 1.00| 000 ~ 1.54| 12348 |3m&EBzB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 11.44 ~ 1682| 12348 |3mE#Bz3 - =~ — — —
ZznLst 1.00 | 1.64 ~ 9.32 100.00 | =nllst | 000 ~ 932 2.62 14.02 znLs 1.00 | 5.00 ~ 1144 100.00 | =hS | 5,00 ~ 1682|262 14.02
17 100kN/m%Z#BZ5 | 1.00 | 000 ~ 1.03| 11541 |3mEBZB| — ~ — — — | 100kN/mi%#BZ5 | 1.00 | 1087 ~ 1397| 11541 |3mE#BZ3 -~ — — —
ZznLst 1.00 | 1.03 ~ 881 100.00 | =nllst | 000 ~ 881|232 12.43 znLs 1.00 | 5.00 ~ 10.87 100.00 | =S | 5,00 ~ 1397|232 12.43
19 100kN/mMZ#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZE#Z B -~ — — —
Lo 1.00 | 0.00 ~ 752 96.20 | =nS | 0oo ~ 752|268 14.35 znLs 1.00 | 5.00 ~ 1397 96.20 | =S | 6.00 ~ 1397] 2.68 14.35
13 100kN/m%#BZ5| 1.00| 000 ~ 1.43| 12167 |3mEBZZ| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1093 ~ 1557 121.67 |3m&E#BZb -~ — — —
L 1.00 | 1.43 ~ 9.21 100.00 | =04t | 000 ~ 921|264 13.57 znLs 1.00 | 5.00 ~ 10.93 100.00 | =nSY | 6,00 ~ 1557 | 2.64 13.57
14 100kN/m#E#BZ % — -~ — —|3mZE#EZE| — ~ — — — | 100kN/m#%E#BZ % — - ~ — —|3m%EEZD -~ — — —
L 1.00 | 0.00 ~ 687 86.90 | =nLS | 0oo ~ 687|203 10.56 znLs 1.00 |1 56.00 ~ 986 86.90 | =nLS | 5,00 ~ 9.86|2.03 10.856
15 100kN/m#E#BZ % — -~ — —|3mZEEZE| — ~ — — — | 100kN/m#%E#BZ % — - ~ — — |3mEEZD -~ — — —
Zhn s 100|000 ~ 474 59.10 | =nLst | 000 ~ o000\ 1.66 8.91 FhnLis 1.00 | 6.00 ~ 5.00 59.10 | #hLSt | 5,00 ~ 5.00 | 1.66 8.91
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